Show workK for S\ credit

Honors Math II
Unit 4 day 2: factoring/solving

Factor completely the following expressions if possible. Remember to check for the GCF.

i 6x%2— 17x+5

(2x-5)3x-1)

3 9x3 — x

X(5X+VX5¥’0

5. 22x3 + 4x% — 18x

2x (e -9)(x+1)

7. 4y3 —5y2 — 4y

y C4y2-s4-4)

9. —4x%2 - 5x—1

= ( Yy X y+1)

11.  —6x3 — 21x% +27x
-3y (2x+9)x-1)

13.  4m? + 12mn + 9n?
p X
(2m+ ’br\\

Name Y\Q\I/

Period Date

2. 4x% — 13x — 12

(qx+3)(x«'—0

4. 18x2 + 36x + 16

2 (3x +2)@x+4)

6. 49m? — 16

('Im‘\'Ll)(—lVY\'L{}

8. 6x% — 24x

bx (X-4)

10. 7n?- 10n-38

(In+y)(n-2)
12 20x3 + 124x% + 24x

Uy (Sx+O)(x+ 0

14. —36x%+ 48x —15

-3 (x-5)(2X-1)



show work for S\l credit

Solve the following equations.

15. 8m*—4am =0 16. 25n2 —=n=0
= . =%
=0, Y2 n=0, 25
157 16x2—-1=0 18. 11x2—-44 =0
i _+
a§ X= -2
19. 14x2 - 21x =0 20. 45x% 4+ 10x =0
X=0,%> X:o)"z/q
21.  9x3 =11x% + 14x 22. 9n? =54n
Xx=0,"Va,2 n=0, b
23. 4x%+ 12x = -9 74 =Tx 42 =152%
- -3 % -
X /2 X= -4 Vs
25. 6x3— 7x2-5x=0 26. x=4x%—- 15x
X—:_O’5/5'—|/2 XCO,L{
27. 2x*—4x-8= —x*+ x 28. 24x*+ 8x+2=5-6x
X8 - |
=y x= b, -3y



Find the value of x.

29. Area of square = 36 30. Area of triangle = 115
2x 2%
S5 =2
X=3 X= 5

31.  You have a rectangular stained glass window that measures 2 feet by 1 foot. You have 4
square feet of glass with which to make a border of uniform width around the window. What
should the width of the border be?

Xz /28+ or Lin

32.  You have just planted a rectangular flower bed of red roses in a city park. You want to
plant a border of yellow roses around the flower bed as shown. Because you bought the same
number of red and yellow roses, the areas of the border and flower bed will be equal. What
should the uniform width of the border of yellow roses be?

X= 2%+



Graph the following parabolas; state the end behavior and the interval of increase and decrease.

33. f(x)=3(x—6)+2
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3. f(x)=—(x—-3)(x-7)
(3,00 (1,0)

v: (5,1
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35. f(x)=x%+ 6x+5 W ale o
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